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QUESTION 1

A leading steel manufacturer relies on SAP for purchase, sales, add invoice processing.
1.

It is planning to virtualize its severs to reduce CAPEX and OPEX.

2.

However, its CIO is concerned about the availability, performance, manageability, recoverability, and security for the
SAP database and ERP instance. Match the business requirement with the appropriate design concept.

Select and Place:

Business Requirement Design Concept
The application must scale within bwo hours. Manageability
The appllmtm-n must su-ppnrt ::Iuslt_enng SR
between physical and virtual machines.
The application must be restored in 30 minutes .
: Recoverability
in case.
The application data must be encrypted at rest. Security
The application must generate 200 invoices b
Availiability
concurrently.

Correct Answer:
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Business Requirement Design Concept

The application must support clustering
between physical and virtual machines.

The application must generate 200 invoices
concurrently.

The application must be restored in 30 minutes
in case.

The application data must be encrypted at rest.

The application must scale within two hours.

QUESTION 2

A company uses Strick Lockdown mode in the design for a new data center, but the vSphere administrator must still
allow access to an ESXi host for third-party solutions. How is it possible to override and add trusted users?

A. Use DCUI Access

B. Use Exception Users

C. Use Security Profiles

D. Use Promiscuous Mode

Correct Answer: B

The host can only be accessed through vCenter Server. If SSH or the ESXi Shell is enabled, running sessions for

accounts in the DCUI.Access advanced option and for Exception User accounts that have administrator privileges
remain enabled. All other sessions are terminated.

QUESTION 3

Match the business statement to its appropriate concept.

Select and Place:
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The operations must be automated

and scable Security

The transactions must be services
in under 2ms. Performance

The maximum recovery time

objective is two hours. Availability

The integrity of transactions _
cannot be compromised. Manageability

The services cannot be interrrupted B
for more than 5 minutes per year. Recoverability

Correct Answer:
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The integrity of transactions
cannot be compromised.

The transactions must be services
in under 2ms.

The scrviecs cannot be interrrupted
for more than 5 minutes per year.

The operations must be automated
and scable

The maximum recovery time
objective is two hours.

QUESTION 4

A company has one data center site running 50 hosts and 400 virtual machines and requires a vSphere 6.5 design.
1.

The CIO wants to add a secondary site for Disaster Recovery (DR) with A hours RPO.

2.

The application developer is concerned about anticipated growth as several new projects begin.

3.

The CISO is worried about data leaks and thetft.

4,

The CTO would like to buy new servers with better specifications and higher consolidation ratio.

Determine the critical requirements for each of the key stakeholders. Some requirements might have more than one
stakeholder.

Select and Place:
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Place here.
Cost

Business Continuity Place here.

Disaster Recovery
Place here.

Data Integrity

Place here.

Place here

Correct Answer:
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Disaster Recovery

Business Continuity

Business Continuity Data Integrity

Disaster Recovery
, Cost
Data Integrity
Performance
m

A management company has requested that a new vSphere 6.5 design be developed to protect its existing data center
investment while it expands to a second data center site and introduces process automation.

QUESTION 5

1.

The existing environment consists of 32 vSphere 6.0 hosts attached to an iSCSI storage array containing external
customer financial and medical records used by its investment and medical services divisions.

2.

The customer is also interested in the ability to expand to and failover to a public cloud. Which two valid assumptions
can be made about the new design? (Choose two.)

A. The storage array is listed in the VMware Compatibility Guide (HCL/VCG) for vSphere 6.5. 12
B. The resulting design should utilize the existing hardware choices.

C. Sufficient power and cooling exists in the second data center.
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D. Sufficient bandwidth exists between the sites for cross-cluster vMotion.

Correct Answer: CD
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